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~ it12ans-2007.R(1)

library(car)
attach(Cowles)

layout (matrix(1:4,2,2))
hist(neuroticism)
qgnorm(neuroticism)
hist(extraversion)
qgnorm(extraversion)
layout (1)

table(sex)
table(volunteer)

~

Histogram of neuroticism

Histogram of extraversion
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- it12an5-2007.R(2)

layout (matrix(1:4,2,2))

hist(subset (neuroticism,volunteer=="no"
hist(subset (neuroticism,volunteer=="yes
hist (subset (extraversion,volunteer=="no
hist(subset (extraversion,volunteer=="ye
layout (1)

wilcox.test (neuroticism™volunteer)
wilcox.test (extraversion~volunteer)
print (SV <- table(sex,volunteer))
fisher.test(SV)

),x1im=c(0,25) ,main="neuroticism scale distribution\n for no volunteers",xlab="")
") ,x1im=c(0,25) ,main="neuroticism scale distribution\n for volunteers",xlab="")
"),x1im=c(0,25) ,main="extraversion scale distribution\n for no volunteers",xlab="")

s"),x1lim=c(0,25) ,main="extraversion scale distribution\n for volunteers",xlab="")
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~ it12an5-2007.R(3) ~

res <- glm(volunteer ~ sex + extraversion, family=binomial)
summary (res)
exp(coef (res))
exp(confint(res))
resx <- glm(volunteer ~
print (lambda <- -2%(logLik(res)-logLik(resx)))
1-pchisq(lambda,1)
detach(Cowles)
N J
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000000000000000000000000000 0.7400000000000000000000000*0000000000000
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., data=Cowles, family=binomial)
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oooo oooo 00 oo pO
gooooo 0.78 0.63 0.97 0.024
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